INSTRUCTION S.C. L. So that form which a complete the consideration of the constant involves multiple reporting and y	PFIPLE BY AN EXEMPLATION POCUMENT
recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1:	
cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.	Bioterrorism Protection Act of 2002; Bienniel

Bioterrorism Protection Act of 2002; Bienniel Publication of the Select Agent and Toxin List; Regulatory Amendments

Pagest of 6 0MB NO.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total =

0579-DATE PREPARED

(G)Average (K)Total/(I)Total = (J)Average **NOTE:** The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

July 12, 2011

									July .	12, 2011	
IDENTIF	ICATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUA	L BURDEN				
				REPORTS					RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
42 CFR 73.5 and 6; 9CFR 121.5 and 6; 7 CFR 331.5	Report of Identification of a Select Agent or Toxin (State)	4	69	3.0000	207.00	1.0000	207.00			0.00	
42 CFR 73.5 and 6; 9CFR 121.5 and 6; 7 CFR 331.5	Report of Identification of a Select Agent or Toxin (Not-for-Profit)	4	69	1.0000	69.00	1.0000	69.00			0.00	
42 CFR 73.5 and 6; 9CFR 121.5 and 6; 7 CFR 331.5	Report of Identification of a Select Agent or Toxin (Business)	4	23	1.0000	23.00	1.0000	23.00			0.00	
73.7; 121.7; and 331.7	Application for Registration (State)	1	3	1.0000	3.00	5.0000	15.00			0.00	
73.7; 121.7; and 331.7	Application for Registration (Not-for-Profit)	1	3	1.0000	3.00	5.0000	15.00			0.00	
73.7; 121.7; and 331.7	Application for Registration (Business)	1	1	1.0000	1.00	5.0000	5.00				
73.7; 121.7; and 331.7	Amendment to the Application for Registration (State)	1	163	8.0000	1,304.00	1.0000	1,304.00			0.00	
	SUBTOTAL		11.00		1,610.00		1,638.00	0.00		0.00	
	TOTAL OF ALL PAGES		11.00		4,426.00		10,799.00	295.00		148.00	

REPRODUCE LOCALLY. Include form number and date on all reproductions.	SUMMA	Y OF INFORMATION	COLLECTION		Pag	e 2 of 6
TOTAL - COLUMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c			4,721.00	10,947.00		

SUMMARY OF INFORMATION COLLECTION USDA-APHIS

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total =

(G)Average (K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITI	INICODMA	TION COL	I ECTION	DOCUMENT

Bioterrorism Protection Act of 2002; Bienniel Publication of the Select Agent and Toxin List; Regulatory Amendments

Page 2
OMB NO.

0579-

DATE PREPARED

July 12, 2011

IDENTIF	CICATION OF REPORTING OR RECORDICEPING REQUIREMENT					ANNUAI	BURDEN		, , , , , , , , , , , , , , , , , , ,	, =011
				REPORTS						
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
				RESPONDENT					KEEPER	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
73.7; 121.7; and 331.7	Amendment to the Application for Registration (Not-for-Profit)	1	163	3.0000	489.00	1.0000	489.00			0.00
73.7; 121.7; and 331.7	Amendment to the Application for Registration (Business)	1	54	3.0000	162.00	1.0000	162.00			
73.11; 121.11; and 331.11	Security Plan (State)	none	163	1.0000	163.00	5.0000	815.00			0.00
73.11; 121.11; and 331.11	Security Plan (Not-for-Profit)	none	163	1.0000	163.00	5.0000	815.00			0.00
73.11; 121.11; and 331.11	Security Plan (Business)	none	54	1.0000	54.00	5.0000	270.00			
73.12; 121.12; and 331.12	Biosafety/Biocontainment Plan (State)	none	163	1.0000	163.00	8.0000	1,304.00			0.00
73.12; 121.12; and 331.12	Biosafety/Biocontainment Plan (Not-for-Profit)	none	163	1.0000	163.00	8.0000	1,304.00			0.00
73.12; 121.12; and 331.12	Biosafety/Biocontainment Plan (Business)	none	54	1.0000	54.00	8.0000	432.00			
73.13; 121.13; and 331.13	Request regarding a Restricted Experiment (State)	none	69	1.0000	69.00	2.0000	138.00			0.00

REPRODUCE LOCALLY. Include form number and date on all reproductions. SUBTOTAL	SUMMARY OF INFORMATION COLLECTION 1,480.00	5,729.00	$_0$ Page 4 of 6 $_{0.00}$
--	--	----------	----------------------------

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total =

(G)Average (K)Total/(I)Total = (J)Average

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

TITLE C)F INFORMA	TION COLLE	ECTION DO	CUMENT

Bioterrorism Protection Act of 2002; Bienniel Publication of the Select Agent and Toxin List; Regulatory Amendments

Page 3

омв но.

0579-DATE PREPARED

July 12, 2011

USDA-APHIS

IDENTIF	ICATION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN								
					REPORTS				RECORDS		
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-	
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS	
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)	
				RESPONDENT					KEEPER		
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
73.13; 121.13; and 331.13	Request regarding a Restricted Experiment (Not-for-Profit)	none	69	1.0000	69.00	2.0000	138.00			0.00	
73.13; 121.13; and 331.13	Request regarding a Restricted Experiment (Business)	none	22	1.0000	22.00	2.0000	44.00				
73.14; 121.14; and 331.14	Incident Response Plan (State)	none	163	1.0000	163.00	5.0000	815.00			0.00	
73.14; 121.14; and 331.14	Incident Response Plan (Not-for-Profit)	none	163	1.0000	163.00	5.0000	815.00			0.00	
73.14; 121.14; and 331.14	Incident Response Plan (Business)	none	54	1.0000	54.00	5.0000	270.00				
73.15; 121.15; and 331.15	Training (State)	none	163	1.0000	163.00	1.0000	163.00			0.00	
73.15; 121.15; and 331.15	Training (Not-for-Profit)	none	163	1.0000	163.00	1.0000	163.00			0.00	
73.15; 121.15; and 331.15	Training (Business)	none	54	1.0000	54.00	1.0000	54.00				

121 16: and	UCE LOCALLY. Include form number and date on all reproductions. Request to Transfer Select Agents and Toxins (State)	2	SUMMARY (F INFORMATION (2.0000	250.00		Pag	e 5 of 6 0.00
	SUBTOTAL				976.00		2,712.00	0		0.00

Page INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and TITLE OF INFORMATION COLLECTION DOCUMENT recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. OMB NO. Bioterrorism Protection Act of 2002; Bienniel Publication of the Select Agent and Toxin List; Regulatory Amendments (F)Total/(D)Total = (E)Average (H)Total/(F)Total = 0579-(G)Average (K)Total/(I)Total = (J)Average **NOTE:** The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 DATE PREPARED years, list as "1/6" & decimal will display. July 12, 2011 IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT ANNUAL BURDEN

IDENTIF	FICATION OF REPORTING OR RECORDKEEPING REQUIREMENT					ANNUA	L BURDEN			
					REPORTS				RECORDS	
										TOTAL
		FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF	DESCRIPTION	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.		so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
				RESPONDENT					KEEPER	
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
73.16; 121.16; and 331.16	Request to Transfer Select Agents and Toxins (Not-for-Profit)	2	125	1.0000	125.00	2.0000	250.00			0.00
73.16; 121.16; and 331.16	Request to Transfer Select Agents and Toxins (Business)	2	40	1.0000	40.00	2.0000	80.00			
73.17; 121.17; and 331.17	Recordkeeping (State)	none						127	0.500	63.50
73.17; 121.17; and 331.17	Recordkeeping (Not-for-Profit)	none						127	0.500	63.50
73.17; 121.17; and 331.17	Recordkeeping (Business)							41	0.500	21.00
73.19; 121.19; and 331.19	Notification of Theft, Loss, or Release (State)	3	84	1.0000	84.00	2.0000	168.00			0.00

REPROD	UCE LOCALLY. Include form number and date on all reproductions.		SUMMARY (F INFORMATION	OLLECTION				Pag	e 6 of 6
1171 19 200	Notification of Theft, Loss, or Release (Not-for- Profit)	3	84	1.0000	84.00	2.0000	168.00			0.00
1171 14 and	Notification of Theft, Loss, or Release (Business)	3	27	1.0000	27.00	2.0000	54.00			0.00
	SUBTOTAL				360.00		720.00	295		148.00

SUMMARY OF INFORMATION COLLECTION USDA-APHIS